On a Paper of Mazhar and Totik*

DING-XUAN ZHOU

Department of Mathematics, Zhejiang University; Advanced Institute of Mathematics, Hangzhou, Zhejiang, 310027, and Institute of Mathematics, Academia Sinica, Beijing, 100080, People's Republic of China

Communicated by V. Totik

Received January 11, 1991; accepted in revised form December 9, 1991

For modified Szász operators, S. M. Mazhar and V. Totik gave a direct approximation theorem for continuous functions. In this paper we extend this direct result to combinations of these operators. An inverse theorem to this direct estimate is given. An equivalent relation between the derivatives of these operators and smoothness of functions is also presented. -^C 1993 Academic Press, Inc.

1. INTRODUCTION

The well-known Bernstein polynomials are given by

$$B_n(f,x) = \sum_{k=0}^n f(k/n) \binom{n}{k} x^k (1-x)^{n-k} \equiv \sum_{k=0}^n f(k/n) b_{n,k}(x).$$
(1.1)

It was shown by H. Berens and G. G. Lorentz [2] that if $0 < \alpha < 2$ then $|B_n(f, x) - f(x)| \leq M(x(1-x)/n)^{\alpha/2}$ if and only if $||f(x+h) - 2f(x) + f(x-h)||_{C[h, 1-h]} = O(h^{\alpha})$. M. Becker [1] extended this result to certain other exponential type operators, which also gave the characterization of the classical modulus of smoothness. It is thus of interest to characterize the higher orders of smoothness by positive linear operators. In this paper we give such a characterization by the so-called modified Szász operators on $[0, \infty)$

$$L_{n}(f, x) = \sum_{k=0}^{\infty} n \int_{0}^{\infty} f(t) P_{n,k}(t) dt P_{n,k}(x),$$

$$P_{n,k}(x) = e^{-nx} (nx)^{k} / k!.$$
(1.2)

* Supported by National Science Foundation and Zhejiang Provincial Science Foundation of China

290

0021-9045/93 \$5.00

Copyright (1) 1993 by Academic Press, Inc. All rights of reproduction in any form reserved. These operators were defined by S. M. Mazhar and V. Totik [9] in 1985. The saturation and non-optimal characterization results were given by means of the so-called Ditzian–Totik modulus of smoothness.

Mazhar and Totik gave a direct theorem in the form

$$|L_n(f, x) - f(x)| \le M\omega_1(f, (x/n + n^{-2})^{1/2}).$$
(1.3)

The inverse result to (1.3) was considered as "far less obvious." We shall give such an inverse result. We shall also extend (1.3) and the inverse theorem to combinations of these operators as defined by M. Heilmann [8] in 1989, which have higher orders of approximation.

Another interesting topic in this area is the close connection between smoothness of functions and the behavior of derivatives of optimal polynomials or approximation processes [5, 7]. In this paper we give a similar result for the modified Szász operators.

2. NOTATIONS AND PRELIMINARY RESULTS

Let $C[0, \infty)$ be the set of continuous and bounded functions on $[0, \infty)$. $\|\cdot\|$ denotes the supremum norm. The *r*th modulus of smoothness we will consider is defined in $C[0, \infty)$ by

$$\omega_r(f, t) = \sup_{0 < h \leq t} \|\mathcal{A}_h^r f(\cdot)\|,$$
(2.1)

where $\Delta_h^r f(x) = \sum_{k=0}^r (-1)^{r+k} {r \choose k} f(x+(k-r/2)h)$, if x > rh/2; $\Delta_h^r f(x) = 0$, otherwise.

To characterize smoothness we use a combination of the modified Szász operators given by

$$L_{n,r}(f,x) = \sum_{i=0}^{r-1} a_i(n) L_{n_i}(f,x), \qquad (2.2)$$

where with an absolute constant A, n_i , and $a_i(n)$ satisfy

(a) $n = n_0 < \dots < n_{r-1} \leq An;$ (b) $\sum_{i=0}^{r-1} |a_i(n)| \leq A;$ (c) $\sum_{i=0}^{r-1} a_i(n) = 1;$ (d) $\sum_{i=0}^{r-1} a_i(n) n_i^{-k} = 0,$ for k = 1, ..., r-1.(2.3)

Note that $L_{n,1}(f, x) = L_n(f, x)$.

We also use the Peetre's K-functional

$$K_{r}(f, t') = \inf_{g \in D_{r}} \{ \|f - g\| + t' \|g\|_{D_{r}} \},$$
(2.4)

where the Sobolev space D_r and its norm are defined by

$$D_r = \{ g \in C[0, \infty) : g^{(r-1)} \in AC_{loc}, g^{(r)} \in L_{\infty}[0, \infty) \},$$
$$\|g\|_{D_r} = \|g\| + \|g^{(r)}\|_{\infty}.$$

It is well known that for $f \in C[0, \infty)$ we have

$$M_0^{-1}\omega_r(f,t) \le K_r(f,t^r) \le M_0\omega_r(f,t)$$
(2.5)

with a constant M_0 independent of f and t > 0.

3. A DIRECT THEOREM

We now extend the direct estimate (1.3) to the combinations $L_{n,r}$. We use the following lemma.

LEMMA 3.1 [8]. Let $W_{n,m}(x) = L_n((x-\cdot)^m, x)$ for $n \in N$, $m \ge 0$. Then we have

$$W_{n,2m}(x) = \sum_{i=0}^{m} q_{i,2m}(x/n)^{m-i} n^{-2i},$$
(3.1)

$$W_{n,2m+1}(x) = \sum_{i=1}^{m} q_{i,2m+1}(x/n)^{m-i} n^{-2i-1},$$
(3.2)

where the real coefficients $\{q_{i, 2m}\}$ and $\{q_{i, 2m+1}\}$ are independent of x and bounded uniformly by M_1 .

THEOREM 1. Let $f \in C[0, \infty)$, $r \in N$. Then we have

$$|L_{n,r}(f,x) - f(x)| \le MK_r(f, (x/n + n^{-2})^{r/2}) \le M'\omega_r(f, \sqrt{x/n + n^{-2}}),$$
(3.3)

where M and M' are constants independent of f, $n \in N$, and $x \ge 0$.

Proof. From the definition of the $L_{n,r}$ and Lemma 3.1, we have

$$L_{n,r}((\cdot - x)^k, x) = 0, \qquad k = 1, ..., r - 1.$$

Let $g \in D_r$. Then by (3.1) and Hölder's inequality we have

$$\begin{aligned} |L_{n,r}(g,x) - g(x)| &= \left| L_{n,r} \left(\int_{x}^{t} (t-u)^{r-1} g^{(r)}(u) \, du/(r-1)!, x \right) \right| \\ &\leq \sum_{i=0}^{r-1} |a_{i}(n)| \, L_{n_{i}}(|t-x|^{r}, x) \, \|g^{(r)}\|_{\infty} \\ &\leq \sum_{i=0}^{r-1} |a_{i}(n)| \, (L_{n_{i}}((t-x)^{2r}, x))^{1/2} \, \|g^{(r)}\|_{\infty} \\ &\leq \sum_{i=0}^{r-1} |a_{i}(n)| \, (M_{1}(r+1)(x/n+n^{-2})^{r})^{1/2} \, \|g^{(r)}\|_{\infty} \\ &\leq \mathcal{A}(M_{1}(r+1))^{1/2} \, (x/n+n^{-2})^{r/2} \, \|g^{(r)}\|_{\infty}. \end{aligned}$$

Thus, for $f \in C[0, \infty)$, $g \in D_r$, $x \in [0, \infty)$ we have

$$\begin{aligned} |L_{n,r}(f,x) - f(x)| \\ &\leq |L_{n,r}(f-g,x)| + |f(x) - g(x)| + |L_{n,r}(g,x) - g(x)| \\ &\leq (A+1) \|f - g\| + A(M_1(r+1))^{1/2} (x/n + n^{-2})^{r/2} \|g^{(r)}\|_{\infty} \\ &\leq M\{\|f - g\| + (x/n + n^{-2})^{r/2} \|g^{(r)}\|_{\infty}\}. \end{aligned}$$

By taking the infimum over $g \in D_r$, we obtain

$$|L_{n,r}(f,x) - f(x)| \leq MK_r(f,(x/n+n^{-2})^{r/2}),$$

where M is a constant independent of $f, x \in [0, \infty)$ and $n \in N$. Using (2.5) we obtain (3.3). Our proof is then complete.

Remark. In the case r = 1, our result is the direct estimate of Mazhar and Totik [9].

4. AN INVERSE THEOREM

The purpose of this section is to give an inverse result. Some of the ideas used may be found in [1, 7, 12].

THEOREM 2. Let $f \in C[0, \infty)$, $r \in N$, $0 < \alpha < r$. Then we have

$$|L_{n,r}(f,x) - f(x)| \le C(x/n + n^{-2})^{\alpha/2}$$
(4.1)

with a constant C independent of x and n, if and only if

$$\omega_r(f,h) = O(h^{\alpha}).$$

Remark. In [12] we have shown that for the Bernstein-Durrmeyer operators

$$D_n(f,x) = \sum_{k=0}^n (n+1) \int_0^1 f(t) \binom{n}{k} t^k (1-t)^{n-k} dt \binom{n}{k} x^k (1-x)^{n-k}, \quad (4.2)$$

and $0 < \alpha < 1$, we have

$$\omega_1(f,h) = O(h^{\alpha}) \Leftrightarrow |D_n(f,x) - f(x)| \le C(x(1-x)/n + n^{-2})^{\alpha/2}.$$
(4.3)

The term $x(1-x)/n + n^{-2}$ cannot be replaced by x(1-x)/n in (4.3). Therefore, in (4.1) the term $x/n + n^{-2}$ cannot be replaced by x/n.

We have also stated in [12] that for $1 < \alpha < 2$ there exist no functions $\{\Psi_{n,\alpha}(x)\}_{n \in \mathbb{N}}$ such that for $f \in C[0, 1]$ the following equivalence holds

$$\omega_2(f,h) = O(h^{\alpha}) \Leftrightarrow |D_n(f,x) - f(x)| \leqslant C \Psi_{n,\alpha}(x).$$
(4.4)

In view of this fact we cannot expect a similar characterization by the modified Szász operators for the functions satisfying $\omega_2(f, h) = O(h^{\alpha})$ with $1 < \alpha < 2$.

Proof of Theorem 2. It is sufficient to prove the inverse part.

Suppose that (4.1) holds. Let $0 < t \le h \le 1/(8r)$, $n \in N$, $x \in (rt/2, \infty)$. Set $d(n, x, t) = \max\{1/n, \sqrt{(x + rt/2)/n}\}$. Then we have

$$|\mathcal{A}_{i}^{r}f(x)| \leq \sum_{j=0}^{r} {r \choose j} |L_{n,r}(f, x + (j - r/2)t) - f(x + (j - r/2)t)| + \left| \int \cdots \int_{-t/2}^{t/2} L_{n,r}^{(r)} \left(f, x + \sum_{j=1}^{r} u_{j} \right) du_{1} \cdots du_{r} \right| \leq 2^{2r} C(d(n, x, t))^{\alpha} + \sum_{i=0}^{r-1} |a_{i}(n)| \int \cdots \int_{-t/2}^{t/2} \left\{ \left| L_{n,r}^{(r)} \left(f - f_{d}, x + \sum_{j=1}^{r} u_{j} \right) \right| + \left| L_{n_{i}}^{(r)} \left(f_{d}, x + \sum_{j=1}^{r} u_{j} \right) \right| \right\} du_{1} \cdots du_{r}.$$
(4.5)

Here $f_d \in D_r$ is taken, for d > 0, to satisfy

$$\|f - f_d\|_{\infty} \leq 2K_r(f, d^r) \leq 2M_0 \omega_r(f, d)$$

$$\tag{4.6}$$

and

$$\|f_{d}^{(r)}\|_{\infty} \leq 2d^{-r}K_{r}(f,d^{r}) \leq 2M_{0}d^{-r}\omega_{r}(f,d).$$
(4.7)

Note that from [8]

$$L_n^{(r)}(f_d, x) = \sum_{k=0}^{\infty} n \int_0^{\infty} P_{n, k+r}(t) f_d^{(r)}(t) dt P_{n, k}(x).$$

We thus have

$$\sum_{i=0}^{r-1} |a_i(n)| \int \cdots \int_{-t/2}^{t/2} \left| L_{n_i}^{(r)} \left(f_d, x + \sum_{j=1}^r u_j \right) \right| du_1 \cdots du_r$$

$$\leq A t^r \| f_d^{(r)} \|_{\infty}$$

$$\leq 2M_0 A t^r d^{-r} \omega_r(f, d).$$
(4.8)

By [8] we also have

$$|L_{n_{i}}^{(r)}(f-f_{d},x)| = \left| n_{i}^{r} \sum_{k=0}^{\infty} P_{n_{i},k}(x) \sum_{j=0}^{r} (-1)^{r-j} {r \choose j} n_{i} \int_{0}^{\infty} P_{n_{i},k+j}(t) \times (f(t)-f_{d}(t)) dt \right|$$

$$\leq 2^{r} n_{i}^{r} ||f-f_{d}||.$$
(4.9)

Combining this estimate with the result of Lemma 4.1 we obtain

$$\sum_{i=0}^{r-1} |a_i(n)| \int \cdots \int_{-t/2}^{t/2} \left| L_{n_i}^{(r)} \left(f - f_d, x + \sum_{j=1}^r u_j \right) \right| du_1 \cdots du_r$$

$$\leq A(2^r A^r + M_2 A^r) \| f - f_d \|$$

$$\times \min \left\{ n^r t^r, n^{r/2} \int \cdots \int_{-t/2}^{t/2} \left(x + \sum_{j=1}^r u_j \right)^{-r/2} du_1 \cdots du_r \right\}$$

$$\leq A^{r+1} (2^r + M_2) (1 + M_r') \| f - f_d \| t^r \min\{n^r, (n/(x + rt/2))^{r/2}\}$$

$$= A^{r+1} (2^r + M_2) (1 + M_r') \| f - f_d \| t^r (d(n, x, t))^{-r}. \quad (4.10)$$

Here we have used the following inequality which can be proved in the same way as in [12]

$$\int \cdots \int_{-t/2}^{t/2} \left(x + \sum_{j=1}^{r} u_j \right)^{-r/2} du_1 \cdots du_r \leq M'_r t^r (x + rt/2)^{-r/2}.$$
(4.11)

Thus, from (4.5), (4.8), and (4.10) we obtain

$$\begin{aligned} |\Delta_t^r f(x)| &\leq 4^r C (d(n, x, t))^{\alpha} + 2M_0 A t^r d^{-r} \omega_r(f, d) \\ &+ 2M_0 A^{r+1} (2^r + M_2) (1 + M_r^r) t^r (d(n, x, t))^{-r} \omega_r(f, d). \end{aligned}$$

Let d = d(n, x, t). Then we have

$$|\varDelta_t^r f(x)| \le C' \{ (d(n, x, t))^* + t^r (d(n, x, t))^{-r} \omega_r (f, d(n, x, t)) \},\$$

where the constant C' is independent of x, t, h, and n. Note that for $n \ge 2$

$$d(n, x, t) < d(n-1, x, t) \leq 2d(n, x, t)$$

Thus for any $\delta \in (0, 1/(8r))$ we can choose $n \in N$ such that

 $d(n, x, t) \leq \delta < d(n-1, x, t) \leq 2d(n, x, t).$

Therefore, we have

$$|\Delta_t^r f(x)| \leq 2^r C' \{ \delta^x + h^r \delta^{-r} \omega_r(f, \delta) \}.$$

Hence

$$\omega_r(f,h) \leq 2^r C' \{\delta^{\alpha} + h'\delta \ '\omega_r(f,d)\},\$$

which implies [2, 7]

$$\omega_r(f,h) = O(h^{\alpha}).$$

Our proof will be complete after we prove Lemma 4.1.

LEMMA 4.1. If
$$f \in C[0, \infty)$$
 and $r \in N$, then
 $\|x^{r/2}L_n^{(r)}(f, x)\|_{\infty} \leq M_2 n^{r/2} \|f\|,$ (4.12)

where M_2 is a constant independent of f and $n \in N$.

Proof. If r is even, then (4.12) is valid by [8]. Suppose that r = 2m - 1 with $m \in N$. We have by [7, 8]

$$L_n^{(2m-2)}(f, x) = x^{2+2m} \sum_{i=0}^{2m-2} Q_i(nx)n^i$$

$$\times \sum_{k=0}^{\infty} P_{n,k}(x)(k/n-x)^i n \int_0^\infty f(t) P_{n,k}(t) dt,$$

where $Q_i(nx)$ is a polynomial in nx of degree [(2m-2-i)/2] with uniformly bounded constant coefficients. By differentiating the four parts, respectively, and using the moments of Szász-Mirakjan operators in [7] we can obtain the estimate (4.12) for $x \in [1/n, \infty)$. For $x \in (0, 1/n)$ we have

$$\|x^{r/2}L_n^{(r)}(f,x)\| \leq n^{-r/2} \|L_n^{(r)}(f)\|_{\infty} \leq 2^r n^{r/2} \|f\|.$$

The proof is then complete.

5. A CONNECTION BETWEEN DERIVATIVES AND SMOOTHNESS

An equivalent relation between the derivatives of the modified Szász operators and the Ditzian-Totik modulus of smoothness was given by M. Heilmann [8], Z. Ditzian, and K. G. Ivanov [6]. In this section we give an equivalent relation between the derivatives and the classical modulus of smoothness. The commutativity of these operators is crucial in our proof.

To prove our main result we need the following lemma.

LEMMA 5.1. Let
$$r \in N$$
, $0 < s < r$. If $f \in D_r$, then
 $\|x^{(r-s)/2}L_n^{(r)}(f,x)\|_{\infty} \le \|x^{(r-s)/2}f^{(r)}(x)\|_{\infty}.$ (5.1)

Proof. Note that [8]

$$L_n^{(r)}(f,x) = \sum_{k=0}^{\infty} P_{n,k}(x) n \int_0^{\infty} P_{n,k+r}(t) f^{(r)}(t) dt.$$
 (5.2)

By Hölder's inequality we have

$$\begin{aligned} |x^{(r-s)/2}L_n^{(r)}(f,x)| \\ &\leqslant \sum_{k=0}^{\infty} P_{n,k}(x)x^{(r-s)/2}n \int_0^{\infty} P_{n,k+r}(t)t^{(s-r)/2} dt \\ &\times ||x^{(r-s)/2}f^{(r)}(x)||_{\infty} \\ &\leqslant ||x^{(r-s)/2}f^{(r)}(x)||_{\infty} \left(\sum_{k=0}^{\infty} P_{n,k}(x)x^r n \int_0^{\infty} P_{n,k+r}(t)t^{-r} dt\right)^{(r-s)/(2r)} \\ &\leqslant ||x^{(r-s)/2}f^{(r)}(x)||_{\infty}. \end{aligned}$$

Hence (5.1) holds.

We can now state the main result of this section.

THEOREM 3. Let
$$f \in C[0, \infty)$$
, $r \in N$, $0 < \alpha < r$. We have
 $|L_n^{(r)}(f, x)| \leq M(\min\{n^2, n/x\})^{(r-x)/2} \Leftrightarrow \omega_r(f, h) = O(h^x).$ (5.3)

Proof. Sufficiency. Let $g \in D_r$, $x \in [0, \infty)$, $n \in N$. By (4.9), (4.12), and (5.2) we have

$$|L_n^{(r)}(f,x)| \leq |L_n^{(r)}(f-g,x)| + |L_n^{(r)}(g,x)|$$

$$\leq \min\{2^r n^r, M_2(n/x)^{r/2}\} ||f-g|| + ||g^{(r)}||_{\infty}$$

$$\leq (2^r + M_2)(\min\{n^2, n/x\})^{r/2}$$

$$\times \{||f-g|| + (\min\{n^2, n/x\})^{-r/2} ||g^{(r)}||_{\infty}\}.$$

Therefore, by taking the infimum over $g \in D_r$ we obtain

$$|L_n^{(r)}(f,x)| \leq M_0(2^r + M_2)(\min\{n^2, n/x\})^{r/2}\omega_r(f, (\min\{n^2, n/x\})^{-1/2}).$$

The proof of the sufficiency is complete.

Necessity. Let $0 < t \le h < 1/(8r)$, x > rt/2. Set $d(n, x, t) = \max\{1/n, \sqrt{(x + rt/2)/n}\}$. By [8] we have the commutative property

$$L_n(L_m f)(x) = L_m(L_n f)(x), \quad \text{for} \quad m, n \in N.$$
(5.4)

By Theorem 1 we then have

$$\begin{aligned} |\mathcal{\Delta}_{i}^{r} L_{m} f(x)| &\leq \left| \sum_{j=0}^{r} {r \choose j} (-1)^{r-j} \left\{ L_{n,r} (L_{m} f, x + (j-r/2)t) \right. \\ &- L_{m} (f, x + (j-r/2)t) \right\} \\ &+ \left| \sum_{i=0}^{r-1} a_{i}(n) \mathcal{\Delta}_{i}^{r} L_{n_{i}} (L_{m} f)(x) \right| \\ &\leq \sum_{j=0}^{r} {r \choose j} M' \omega_{r} (L_{m} f, \sqrt{(x + (j-r/2)t)/n + n^{-2}}) \\ &+ \sum_{i=0}^{r-1} |a_{i}(n)| \int \cdots \int_{-t/2}^{t/2} \left| L_{m}^{(r)} \left(L_{n_{i}} f, x + \sum_{j=1}^{r} u_{j} \right) \right| du_{1} \cdots du_{r}. \end{aligned}$$

By (5.1) and (5.2) we obtain

$$\begin{aligned} |\mathcal{A}_{i}^{r}L_{m}f(x)| &\leq 4^{r}M'\omega_{r}(L_{m}f,d(n,x,t)) + \sum_{i=0}^{r-1} |a_{i}(n)| \\ &\times \min\left\{ \|L_{n_{i}}^{(r)}(f)\|_{\infty} t^{r}, \int \cdots \int_{-t/2}^{t/2} \left(x + \sum_{j=1}^{r} u_{j}\right)^{(\alpha-r)/2} \\ &\times \|x^{(r-\alpha)/2}L_{n_{i}}^{(r)}(f,x)\|_{\infty} du_{1} \cdots du_{r} \right\} \\ &\leq 4^{r}M'\omega_{r}(L_{m}f,d(n,x,t)) + \sum_{i=0}^{r-1} |a_{i}(n)| \min\left\{M(An)^{r-\alpha}t^{r}, \\ &M(An)^{(r-\alpha)/2} (M_{r}')^{(r-\alpha)/r} (x + rt/2)^{(\alpha-r)/2} t^{r} \right\} \\ &\leq M'' \{\omega_{r}(L_{m}f,d(n,x,t)) + t^{r}(d(n,x,t))^{\alpha-r} \}. \end{aligned}$$
(5.5)

Here we have used (4.11). The constant M'' is independent of m, n, x, and t. For any $\delta \in (0, 1/(8r))$ we can choose $n \in N$ such that

$$d(n, x, t) \leq \delta < 2d(n, x, t)$$

298

Hence

$$|\Delta_t^r L_m f(x)| \leq 2^r M'' \{ \omega_r(L_m f, \delta) + t^r \delta^{\alpha - r} \},$$

which implies

$$\omega_r(L_m f, h) \leq 2^r M''(\omega_r(L_m f, \delta) + h^r \delta^{\alpha - r}).$$
(5.6)

Let $T = (2^{r+1}M'' + 1)^{1/\alpha}$, $\delta = h/T$. Then by induction we obtain for $k \in N$

$$\begin{split} \omega_r(L_m f, h) &\leq 2^r M''(\omega_r(L_m f, h/T) + h^{\alpha} T^{r-\alpha}) \\ &\leq \cdots \\ &\leq (2^r M'')^k \omega_r(L_m f, hT^{-k}) + h^{\alpha} T^r \sum_{l=1}^k (2^r M'' T^{-\alpha})^l \\ &\leq h^r (2^r M'' T^{-r})^k \|L_m^{(r)}(f)\|_{\infty} + h^{\alpha} T^r 2^r M''/(T^{\alpha} - 2^r M''). \end{split}$$

Letting $k \to \infty$ we have

$$\omega_r(L_m f, h) \leqslant T' h^{\alpha},$$

where the constant T^r is independent of $m \in N$ and $h \in (0, 1/(8r))$. Thus we obtain for x > rt/2

$$\begin{aligned} |\varDelta_{t}^{r}f(x)| &= \lim_{m \to \infty} |\varDelta_{t}^{r}L_{m}f(x)| \\ &\leqslant T^{r}t^{x}, \end{aligned}$$

which implies

$$\omega_r(f,h) \leq T^r h^{\alpha}.$$

The proof is complete.

ACKNOWLEDGMENTS

The author expresses his sincere gratitude to Professor Z. R. Guo for his continuous encouragement. He also thanks Professor V. Totik for his comments and suggestions.

References

- I. M. BECKER, Global approximation theorems for Szász-Mirakjan and Baskakov operators in polynomial weight spaces, Indiana Univ. Math. J. 27 (1978), 127-142.
- H. BERENS AND G. G. LORENTZ, Inverse theorems for Bernstein polynomials, Indiana Univ. Math. J. 21 (1972), 693-708.

640/72/3-5

- 3. P. L. BUTZER, Linear combinations of Bernstein polynomials, Canad. J. Math. 5 (1953), 559-567.
- 4. M. M. DERRIENNIC, Sur l'approximation des functions intégrables sur [0, 1] par des polynomes de Bernstein modifiés, J. Approx. Theory 31 (1981), 325-343.
- 5. Z. DITZIAN, Derivatives of Bernstein polynomials and smoothness, Proc. Amer. Math. Soc. 93 (1985), 25-31.
- Z. DITZIAN AND K. G. IVANOV, Bernstein-type operators and their derivatives, J. Approx. Theory 56 (1989), 72–90.
- 7. Z. DITZIAN AND V. TOTIK, Moduli of smoothness, *in* "Springer Series in Computational Mathematics," Vol. 9, Springer-Verlag, Berlin/Heidelberg/New York, 1987.
- 8. M. HEILMANN, Direct and converse results for operators of Baskakov-Durrmeyer type, *Approx. Theory Appl.* 5, No.1 (1989), 105–127.
- S. M. MAZHAR AND V. TOTIK, Approximation by modified Szász operators, Acta Sci. Math. (Szeged) 49 (1985), 257-269.
- V. ΤΟΤΙΚ, Uniform approximation by positive operators on infinite intervals, Anal. Math. 10 (1984), 163-184.
- V. TOTIK, An interpolation theorem and its applications to positive operators, *Pacific J. Math.* 111 (1984), 447-481.
- 12. DING-XUAN ZHOU, On smoothness characterized by Bernstein type operators, J. Approx. Theory, to appear.
- 13. DING-XUAN ZHOU, On a conjecture of Z. Ditzian, J. Approx. Theory 69 (1992), 167-172.
- DING-XUAN ZHOU, Uniform approximation by some Durrmeyer operators, Approx. Theory Appl. 6, No. 2 (1990), 87-100.
- 15. DING-XUAN ZHOU, Inverse theorems for some multidimensional operators, *Approx.* Theory Appl. 6, No. 2 (1990), 25-39.